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Solve the following.

Jx+2=5x+8 Y= 3 10.

6x + 4x + 2x

4x -+ 5x = 81 X""q‘
3x - 4= 2x+ 9 y=
7x -
2x +

7x —

=48 V=4 11.

"2‘ 13I

B=3x + 4 X> 14,

3x + 2x — 36 %=(p 16.
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4x

7x

F12 V) bx

25

2x +

5%

5z =21 XT3% 154 7x

4x

6x +2x =48 h=l0 (17, 4x

10x - 3= 5%+ 7 X~ 18 5x+6=3x+ 14

-10

6x + 5= 2x + 13 =7 1L

Solve the' following. .

10x + 75 - 5x = 110 x> ]12.

bx + 3+ 52 - 2 = 64 '13»

=7

4x +
6x -

4x

=

5x +

9x‘

8x -

35% - 10 = 32x + 20
X=10

2= 3x+ 8y~ 1.
4 = 22 + 100 X=3oLs.
32120 X=0 (e
7= +9 X~ 17.
3= 4x + 22 {75 18.
3=2x+9x-a /19)

20-

18x + 3 = 2x + 51 V=3
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7=3+9 A='% 19

8 = 2x + 12 \(’/’u' 20.

3+ 5x = 96 XWllo (any

i +4x = 2RO 22
2=3x+18 X°OQ (23}

=3x+31 K~ 24,
B=3x+5 K= (zs)

3x + 2x = 51 \4%\7

%,W

21

3=2x+9>k'=(_g 22.
5=3x + 5 X~ 1 @3l
4=2x+10 %79 2.
5=3x+11‘w(‘-’uf 25.
=2z + 13 K~ ol 26;
5+ 2x =75 X=10 2.

5x - 8x = 10 K= 10 2.
= 3x + lO.X"‘z) (2Q¥
3=2c+5 X=

30.

7x + 2x - 3x + 5

.7x+12—5x—8=

25

KE)

=1

9x + 2 =5x+30 Y= /

x-5=2x+7 X

6x + 5x - 2x =63 )(""’g’ﬂ}
bx + 3x = 7 )(w:«\

sx+2=3x+2 X=0O
ax-5=7x+10 X~=O

9x + 3x + 4x =64 X L;—
o b

léx + 2 = x + 32 X =2
x+x+x+3=15 )(::Li-
7x+5-2x+3=23Y :-3

= 47 =]

6x+3+5x+s'=66x*—5

30 X=(3
3x + 2 =95 xa(a
o+ 9 Y=o
m+s X= 0

-3x +5x-7=11
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